
juk; 04 

tpilfs; 

01.1. gd;dpnud;L Mz;Lfs;      2.nghUj;jkhd ,uz;L ,lq;fSf;F Gs;sp toq;Ff 

  3.Mz;Lfs;     4.rpW rpW 

  5.rpwpa                 (5*2=10) 

02. 1. 1. khq;fha; 2. thiof;Fiy 3. khiy Neuk; 

   2. 1. G+ + nrb 2.ghy; + NrhW 3.gok; + tif                    6*1=06 

03.1.ehk; vy;NyhuplKk; ,dpikahf Ngr Ntz;Lk; 

   2.cupa Neuj;jpy; cupa nraiy nra;J Kbf;f Ntz;Lk; 

   3.ehq;fs; gwitfs; ruzhyaj;jpw;F nrd;Nwhk;      (3*2=6) 

04.1.kuk;  2.Njrk; 3.ftpij 4.gok; 

  5.nts;is  6.ntspr;rk; 7.,d;gk; 8.,lk; (1*8=8) 

05 1-5 tiu rupahd ,ozg;gf;F Gs;sp toq;Ff (5*1=5) 

06 1.Fl;b 2.gps;is 3. Fl;b 4. Fl;b 5. gps;is    (5*1=5) 

07 rupahd tpil 

  1.Kaw;rp 2.Muha;r;rp 3.guprypg;G 4.ciu 5.fw;W (5*2=10) 

08 1.kl kl 2.jpU jpU 3.fy fy 4. gs gs 5.fk fk (5*2=10) 

09.1.nfhbAk;  2.cs;ssTk;  3.neQ;R 4.NghNj 5.mb (5*2=10) 

10.1.(.)  2.( )  3.(!)  4.(,)          (4*2=8) 

11.1.tPrpaJ 2.tpise;jd 3.nrd;whs; 4.ePe;jpd 5.Xbd    (5*2=10) 

12. 1.epwk;’  2.ghk;gpd; 3.ghypd;  (1*3=3) 

13.vKj;jpd; mikg;G njspT Neu;jpjp vd;gdtw;iw fUj;jpw; nfhz;Lk; vOtha; gaepiyj; 

njhlu;Gfspd; tplaq;fisf; fUj;jpw; nfhz;Lk; Gs;spfs; toq;Ff  (3*3=9) 

  

      

                                              

                                  

 

 

 

 



 


